PHYS 606 - Spring 2017 - Homework IV - Solution

Problem [1]

Let's use the hick suggested by Hersbacher (other ways, e.g. calculating
$$\log (e^{\dagger}e^{G})$$
 using the series for the logarithm can be found in the likerature.)

For teir $\frac{1}{\sqrt{16}} = \frac{1}{\sqrt{16}} =$

Problem [2]

(a)
$$[\vec{r}, \vec{p}, tt] = p_2[\vec{r}, \vec{p}, \frac{p_2}{2m}] + [\vec{r}, \frac{p_2}{2m}] + r_2[\vec{p}, \sqrt{1} + r_3] + r_4[\vec{p}, \sqrt{1} + r_4] + r_$$

```
(b) [(+p)(+p)), T] = (+p)[+p,T]+[+p,T]+p=2it(+pT+T+p)
                                                                                                                                                                                                                                                                               = 2it { $ ? , T }
                           (アラン(ア・ア), 丁] = とれ(アアナーアラ・ア)
                                                                                                                                                                                                                                                                                                                 This sometimes dervites the
                                                                                                                                                                                                                                                                                                                     anti commutator
                          To see that both results are not the same apply
                           there operators to test fite, there 4 = e # P-Et) plane wave
                              T\psi = -t^2 \frac{\Delta \psi}{2m} = \frac{R^2}{2m}\psi; (\vec{r}, \vec{p})\psi = -zt \vec{r}. \nabla \psi = (\vec{r}, \vec{p})\psi
\vec{p} \circ perahor! \vec{p} number, un
                  (\vec{p}.\vec{r})\psi = \vec{p}.\vec{r}\psi - i\hbar(\vec{r})\psi \qquad \text{eigenocline of the operator } \vec{p}.
(\vec{p}.\vec{r})\psi = \vec{p}.\vec{r}\psi - i\hbar(\vec{r})\psi \qquad \text{eigenocline of the operator } \vec{p}.
(\vec{p}.\vec{r})\psi = \vec{p}.\vec{r}\psi - i\hbar(\vec{r})\psi \qquad \text{operator } \vec{p}.
(\vec{p}.\vec{r})\psi = \vec{p}.\vec{r}\psi - i\hbar(\vec{r})\psi \qquad \text{operator } \vec{p}.
(\vec{r}.\vec{p})^2, \vec{r} = 2i\hbar(\vec{r}.\vec{p})^2 + 2i\hbar(\vec{r}.\vec{p})^2 + 2i\hbar(\vec{r}.\vec{p})\psi = (2i\hbar(\vec{r}.\vec{p})^2 + 2i\hbar(\vec{r}.\vec{p})^2)\psi \qquad \text{of } \vec{r}
(\vec{p}.\vec{r})\psi = \vec{p}.\vec{r}\psi - i\hbar(\vec{r}.\vec{p})\psi \qquad \text{operator } \vec{p}.
(\vec{r}.\vec{p})^2, \vec{r} = 2i\hbar(\vec{r}.\vec{p})^2 + 2i
                                      [(\vec{r},\vec{p})(\vec{p},7),T] = 2ih(\vec{r},\vec{p},\frac{e^2}{2m} + \frac{e^2}{2m}(\vec{p},\vec{r}-3ih))\psi = (\frac{2ih}{m}(\vec{r},\vec{p})p^2 - 2ih\frac{e^2}{2m})
                                                                                                                                                                                                                                                                                                                                     + 5H P2)4
                                     The two operators defined by the commutators
                                        are not the same.
(c) \{\vec{r},\vec{p},tt\} = \sum_{k=1}^{\infty} (P_k \frac{\partial t}{\partial P_k} - r_k \frac{\partial t}{\partial r_k}) = \frac{\vec{p}^2}{m} - \vec{r} \cdot \nabla V = 2T - \vec{r} \cdot \nabla V
                         (r_i, p_i) = \sum_{k=1}^{3} (\delta_{ik} \delta_{jk} - 0) = \delta_{ij}
                   So it seems [A,B] = it {A,B}

The operators a quantities
    (a) {(r,p); T} = Z(2(r,p) Pk = 0) = 4 7, T
                                Cavent: obviously the order makes: it [(P)+H]= 4 2 (P)T+TP) +4P.FT
                                                                                                                                                                                                                                                                                                                                                          for operators
```

[3] (a) Hamilton-Jacobi:
$$\frac{\partial S}{\partial t} + \frac{1}{2m} (\nabla S - q \vec{A})^2 + q \phi = 0$$

Heim $\vec{p} = \nabla S$

Continuity eqn.: $\frac{\partial S}{\partial t} + (\nabla \vec{v}) S + \vec{v} \cdot \nabla S = 0 \Rightarrow \frac{\partial S}{\partial t} + \frac{S}{m} \nabla (\vec{p} - q \vec{A}) + \frac{1}{m} \nabla S \cdot (\vec{p} - q \vec{A}) = 0$

(I.5.3)

(b) Ansatz
$$\psi(\vec{r}_{1}t) = Ce^{\frac{1}{\hbar}S}$$
 with C,S reclaimle

ith $\frac{\partial \psi}{\partial t} = \frac{1}{2m}(-i\hbar\nabla - q\vec{A})^{2}\psi + q\psi\psi$

$$\Rightarrow \left(i\hbar\frac{1}{c}\frac{\partial C}{\partial t} - \frac{\partial S}{\partial t}\right)\psi = \frac{1}{2m}\left(-i\hbar\frac{\Delta C}{c} + (\nabla S)^{2} - i\hbar\Delta S - i\hbar\frac{1}{c}\nabla C\cdot\nabla S + q^{2}A^{2} + i\hbar\frac{2}{c}q\vec{A}\cdot\nabla C - 2q\vec{A}\cdot\nabla S + i\hbar q\nabla A\right)\psi + q\psi\psi$$

Trop ψ from eq. and separate imaginary and real part;

$$2e \cdot O = \frac{\partial S}{\partial t} + \frac{1}{2m}\left((\nabla S)^{2} - \hbar^{2}\frac{\Delta C}{c} - \ell\nabla S\cdot(q\vec{A}) + (q\vec{A})^{2}\right) + q\psi$$

$$0 = \frac{\partial S}{\partial t} + \frac{1}{2m}\left((\nabla S - q\vec{A})^{2} + q\psi\right) + 4\alpha \min\{\hbar\sigma - \int_{acc}^{b} t \cdot dt\right\}$$

$$3\pi \cdot 2C\frac{\partial C}{\partial t} = \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\left(-2C^{2}\Delta S - 4C\nabla C\cdot\nabla S + 4C(\nabla C)\cdot(q\vec{A}) + 2C^{2}q\nabla\vec{A}\right)$$

$$3\pi \cdot 2\nabla S = \frac{\partial S}{\partial t} + \frac{1}{2m}\nabla S = \frac{\partial S}{\partial t} + \frac$$

[4] Define $\overrightarrow{A} = \overrightarrow{A} + \nabla f$; $\phi' = \psi - \frac{1}{\partial t}$; $\psi' = \psi = \frac{1}{\partial q}f$ Proof of invariance in two parts:

i) it $\frac{\partial \psi}{\partial t} - q \phi' \psi' = (i\hbar \frac{\partial \psi}{\partial t}) e^{\frac{i}{\hbar}qf} + (-q \frac{\partial f}{\partial t}) \psi e^{\frac{i}{\hbar}qf} - q \phi \psi e^{\frac{i}{\hbar}qf} + q \frac{\partial f}{\partial t} \psi e^{\frac{i}{\hbar}qf}$ $= (i\hbar \frac{\partial \psi}{\partial t} - q \phi \psi) e^{\frac{i}{\hbar}qf}$ $= (i\hbar \nabla - q \overrightarrow{A})^2 \psi' = (i\hbar \nabla - q \overrightarrow{A})^2 \psi e^{\frac{i}{\hbar}qf} + q^2(\nabla f)^2 \psi e^{\frac{i}{\hbar}qf} + (i\hbar \nabla - q \overrightarrow{A})(-q \nabla f) \psi e^{\frac{i}{\hbar}qf}$ $+ (-q \nabla f) (i\hbar \nabla - q \overrightarrow{A}) \psi e^{\frac{i}{\hbar}qf} \qquad q \nabla f e^{\frac{i}{\hbar}qf} + [(-i\hbar \nabla)^2 e^{\frac{i}{\hbar}qf} - i\pi_q \Delta f e^{\frac{i}{\hbar}qf}$ $= [(i\hbar \nabla - q \overrightarrow{A})^2 \psi] e^{\frac{i}{\hbar}qf} + 2[(i\hbar \nabla - q \overrightarrow{A}) \psi (-i\hbar \nabla) e^{\frac{i}{\hbar}qf} + [(-i\hbar \nabla)^2 e^{\frac{i}{\hbar}qf}] \psi$ $+ q^2(\nabla f)^2 \psi e^{\frac{i}{\hbar}qf} + i\hbar q \Delta f \psi e^{\frac{i}{\hbar}qf} - 2q^2(\nabla f)^2 \psi e^{\frac{i}{\hbar}qf} - 2q^2(\nabla f)^2 \psi e^{\frac{i}{\hbar}qf}$

= $\left[\left(-i\hbar \nabla - q\vec{A} \right)^2 \psi \right] e^{\frac{2}{\hbar}qf}$ => the transformed S.E. $i\hbar \frac{\partial \psi'}{\partial t} = \frac{i}{2m} \left(-i\hbar \nabla - q\vec{A}' \right)^2 \psi' + q \psi' \psi'$ is identical to the original equation times an overall phase factor which can be dropped.